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Question 1. (3 marks)
Solve for 8 in the equation sin 8 = —0.25 subject to the condition tan 8 > 0. Give

all solutions in the range 0 < 6 < 2.

sin (-O-?—S> = - Q0.253 rads
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Question 2. (3 marks)
(a) Solve for 6 in the equation cot@ = 3.1. Give all solutions in the range 0° <

8 < 360°.

coTe = 2.1
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Question 3. (6 marks)
For each equation below, find all values of 8 within 0° < 8 < 360°,

(a) 2cos® @ +cosf =0
cose (2cose+1)=0
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(b)tanf = —cot8 +2
tane=-1 +72 -
+taNng
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Question 4 (5 marks)
Find the values of g and b for which the equation is valid:

(a+jb)(4j+5/%) = j(a—1)

(b (] -5) = j(a-1)
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Question 5. (5 marks)
Find the area of the sector of a circle shaded in the diagram below.
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/ 1.25 cm
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Question 6. (4 marks)

Using "special triangles” find the EXACT VALUE of the following. Show all
your work including the positioning of the special triangles in the appropriate
quadrants.

(a) cos(3159)
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Question 7. {4 marks)
Find the length x in the diagram given below.

° Now X
Sin3l’ = _}!__
X
Y = 5.2#
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Question 8. (2.5 marks each = 10 marks)
Perform the indicated operations, expressing all answers in simplest rectangular

form.
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Question 9. (3 marks each = 6 marks)
(a) Give the polar and exponential form of the complex number 1 — /2

(= (Vz) + 1*
N =3

GL?\)X\IE r=v3
" Y= 1an™ (\E—?‘) = §9.F
u © = 3¢0°-54.7°= 205.26°, 5.328 rad.

polar Form | 5/305.2.60
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(b) Give the exponential and rectangular form of the complex number 5/180°

rc'i_c_-rANaLﬂQ.r.' 5cos180°+ 58N \80°(j
= -5
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Question 10. (4 marks)
Find all the three solutions (real and complex) of the given equation. Express the
final result in rectangular and polar forms.
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